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при поддержке

Перевод и адаптация материалов Джона ДеНиро (John DeNero). Используется с разрешения автора.
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class BinaryTree(Tree):

    empty = Tree(None)


    def __init__(self, label, left=empty, right=empty):

        Tree.__init__(self, label, [left, right])


    @property

    def left(self):

        return self.branches[0]


    @property

    def right(self):

        return self.branches[1]

Bin = BinaryTree
t = Bin(3, Bin(1), 
           Bin(7, Bin(5), 
                  Bin(9, Bin.empty, 
                         Bin(11))))
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